DESCRIPTION
SCREW CAP SOCK CRES M 3X10
SCREW CAP SOCK CRES M 4X10
SCREW CAP SOCK CRES M 4X12
SCREW CAP SOCK CRES M 5X10
SCREW CAP SOCK CRES M 5X16
SCREW SET SOCK CRES M 6X8 BOC
SCREW FH PHIL CRES M 3X8 BOC
SCREW FH PHIL CRES M 3X10 BOC
SCREW FH PHIL CRES M 5X12 BOC
WASHER FLAT CRES M3 3.2X7X0.5M
WASHER
WASHER,SPRING LOCK M6 SST BOSS
WASHER, ID-6.4;0D-11.0; THK1.6MM
WASHER
WASHER LOCK SPRING CRES 1/4 BL
WASHER FLAT CRES .032X .265X.5
NUT HEX CRES M 3 BLACK OXD
INSERT HCOIL CRES N/L M5X1.5D*
INS. HELICOIL 1/4" 1D#
PIN (FULL) 2.5X17.8 STST#

PIN (FULL) 2.5X17.8 STST#
SCREW CAP SOCK CRES M 4X12
INSERT HCOIL CRES S/L M3X1.5D*
INSERT HCOIL CRES S/L M4X1.5D*
INSERT HCOIL CRES S/L M6X1.5D*
SCR ALLN UNC 1/4& X 3/4&, BLK
SCR,CAP,SKT HD
PIN DOWEL CRES 2M6X12 A4
PIN DOWEL CRES 4M6X14

EDP No.
DIN912-M3X10A4-70BOC
DIN912-M4X10A4-70BOC

DIN912M4X12A470*RMRK
DIN912-M5X10A4-70BOC
DIN912-M5X16A4-70BOC

DIN913-M6X8-A4-BOC
DINS65-M3X8-A4-BOC
DIN965-M3X10-A4
DIN965-M5X12-A4-BOC
DIN125-A3.2A4BLK OXD
DIN125A5.3A2NRST-BOC
BN672-M6-A2/1.4310BO
DIN433-6.4A4-BLK OXD
DIN433-8.4A4-BLK OXD
MS35338-139B
AN960XC416L
DIN934-M3-A4-BLK OXD
MA3279-155
EDN=TBD
BL5158002520
BL5158002520
DIN912M4X12A470*RMRK
MA3329-152
MA3329-154
MA3329-156
EDN=TBD
MS16995-50
1SO2338-2M6X12-A4
DIN7-4M6X14-A4

QTY IN NOS
200
100
100
100
100
100
200
100
100
200
100
100
100
100
100
100
100
100
100
100
100
100
200
100
100
100
100
100
100



